Name

ID: 1

Assignment Date

Period

Simplify each expression.

1) (-8x* — 12x%y) + (-5x* — 14X°y + 4xy?) + (-7xy* — 4x3y)

2) (5x3 +8x%y) — (-7 = 3x2y% + 12x*y*) + (<7x%y? - 11x%°)

3) (-10u*v3 + 11uv?) - (UPv? + u*v? — 1) = (2u*v? - 11)

4) (13a°b* - b?) + (11b° — 7a°b* — 14ab?) - (7a’b* - 4b?)

5) (—2x%y — 12x*) — (=6x%y + 6xy* + 8x*) — (10x* + 7x%y)

6) (13a%b® + 4a%b?) — (9a’b* + 8a%b* — 11a%b?) + (-8a’b* + 14a°b*)
7) (<7x*y + 4%3) = (12x%y + 11x° + 9x%y*) + (~12x*y> — 9x®y?)
8) (7m?n3 +5n*) + (10n* + 2m?n* + 6m) + (6n* — 9m?n?)

9) (—x2y? —10xy*) + (-7x2y? — 4xy* — 8x°y?) + (-9xy* + 6x%y?)
10) (—2uv® — 8u) — (6uv? — 6u*v — 9u) + (-8uv? + 2uv)

11) (—4xy* —4y*) + (10x*y? - 2y* + 7x%y?) — (6y* + 13x*y?)
12) (=6xy® — 14x2y*) + (5x° — 12xy> — 9xy*) + (<7xy* — 10xy?)
13) (10ab? —7a%b) + (10a°b? — 4a*b + 10) + (5a°b? — 14a?)
14) (—11y* + 8x*y*) + (3y* + 13x%y* + 3x%y*) — (x*y* + 10x%y*)
15) (5n - 11m?n?) + (5m?n? + 6m + 5n) + (~6m?n* — 12m*n?)

16) (10x* — 4x*y) + (-y + 6x*y — 12x*) + (x*y - 3y)
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17) (12x% +9xy?) + (—10x%y* + 8xy? — 7x2) + (9x%y* + 2xy?)

18) (11y? +8y) — (x*y* — 10y? — 8xy*) — (~11x°y* — 14xy*)

19) (4x%y —3y) - (-14x%y + 5y — 8x°y?) + (-11x°y> + 9y)

20) (—13b> - 4a) + (7a — 13b? + 13a*b) + (9b* — 5a)

21) (4x*y + 5xy?) — (11x%y = 5xy? — 10x%y3) — (2x*y> — x%y?)

22) (—12xy + 14y*) — (2xy + 13x*y> + 12y*) + (9y* — 12xy)

23) (~11m*n® + 14m?) + (m*n® + 13m?n° + 9m?) — (-11m? - 3m*n?)

24) (—5a*b? + 13a*b?) - (12a*b> — 10a2 — 10a*b?) + (8a*b? + 5a?)
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Answers to Assignment (ID: 1)

1) —13x* = 30x%y — 3xy* 2) —12x** + 8xty — 4x?y? + X3 3) —9u*v? —udv? + 11uv? + 12
4) -a’b* - 14a’b? + 14b° 5) —6xy* —30x* — 3x%y 6) 23a’b* —3a’b’ + 15a’b?
7) —12x%° — 18x%y* — 19x*y — 7x° 8) 21n* + 6m

9) —23xy* — 8x%y? — 2x%y? 10) 8u*v—16uv’ +u

11) =3x%y? —dxy* — 12y* + 7x%y? 12) —21x%y* — 9xy* — 28xy? + 5%°

13) 25a°b? — 11a’b—14a* + 10  14) 20x*y* — 7x*y* — 8y*

15) —12m*n? — 12m*n? + 6m + 10n 16) 3x‘y —2x* — 4y

17) —x*y* + 19xy? + 5%2 18) 10x°y* + 22xy* + 21y* + 8y  19) —3x’y’ + 18x?’y +y

20) 13a*b +9b* —26b* - 2a 21) —2x*y? + 11x%y° — 7x*y + 10xy?

22) —13x*y’ + 11y* — 26xy 23) —7m’n’ + 13m?n° + 34m? 24) a’b’® + 13a’b? + 15a°
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Name

ID: 2

Assignment
Simplify each expression.

1) (14y° +2x°y?) - (113y? + 2y + 3y3) + (-6y° + y?)

2) (9v3 + uiv?) — (2uiv* + 6v3 — 8uPv2) + (—11uv? + 14uv?)
3) (4°y* —11x3) = (x> — xy? = 11x*) = (7% — 6xy?)

4) (7x3 = 13x2y%) + (5x%y* + 4x° — 13y?) — (7% + 9x%y?)

5) (—ab® + 14a) — (12ab> — 8a? — a’b?®) — (-3a% — 10ab?)

6) (5a’b* +a’b’) — (8a%b* + 8a* + 7a’b*) — (~10a*b* + 10a%b?)
7) (=8x*y3 + 11x%y?) + (—4x% — 14xy* — 2x%y?) — (3x*y* — 7xy*)
8) (-8mn +4n*) + (-9mn — 12n* — 11n%) + (=12n> — 10mn)

9) (xy? — 12x%y*) + (=6xy? — 2y? + 4x%y*) + (-12x%y* + y?)

10) (—14x%y +5y*) + (7x2y + 11y* + 8x*y*) — (2y* + 9x%y)

11) (~14x%y? + 13x*y?) + (6x*y? + 14x + 2x3) + (2% + x*y?)

12) (12u°v? = 9) — (=13u3v? + 9uv* + 1) + (13 + 6uv?)

13) (-7x% — 6x%y*) + (—14x2 — 8x2y* + 8xy) + (—6x%y* + 8y*)

14) (7ab? - 7a°b?) + (4a°b? + 4a — 9ab?) — (-3a — 2a°b?)

15) (—xy* + 13x%y?) + (<7xy* + 7x3 = 13°y*) + (14x%y? - 3x%y?)

16) (-2y? +9xy) — (-6y? + 3x*y + 10xy) + (14y? — 13xy)
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17) (-2b-3a*b?) - (-6a’b® — 9a* — 9b) + (4a*b® — 7a’b?)

18) (-8x2y* +9y3) + (4y® — x*y — 14x3) = (=13 + 11x%y)

19) (—11x%*? —4xy) — (-4x3y> — 14xy — 12x*y?) — (—4x*y® + 2x°y?)
20) (10y — 11y2) — (8y + 5x°y? + 7y?) — (-x°y? + 6x%)

21) (=13v + 6u*v?) — (~14v — 9u® — 14u*v?) — (-10uPv — 4u*)

22) (12x*y* = 3y) + (-14y + 9°y? + 7x*y*) + (6y — 6x°y?)

23) (9m*n? + 12m*n3) — (<7m*n® + 7mn — 9m*n?) + (~11mn + 8m*n3)

24) (9%°y? +2x%y*) — (-3x°y* + 12%y> + 14y?) + (-8x°y> + 9y?)
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Answers to Assignment (ID: 2)

1) —-9x’y? —23y° —y?
4) —17x*y* + 4x° — 13y°

6) 10a‘b* + 13a’b* — 16a’b® — 8a’
9) —20x%y* — 5xy? — y?

8) —8n* —23n° —27mn
11) 20x*y? — 14x°y* + 4x° + 14x
13) —20x%y* + 8y* + 8xy — 21x?
15) —16x°y* +27x*y? — 8xy* + 7x°
17) a*b® —a’b® +9a* + 7b

20) —4x3y? —6x* — 18y* + 2y

23) 18m*n? +27m*n’® — 18mn

2) 17u’v* —3uiv? +3v?

3) 4x%y? + 11x* + 7xy* — 19%°
5) a’b® —3ab’ + 11a* + 14a
7) —11x*° — 7xy* + 9x?y? — 4x2

10) 8x*y* + 18y* — 16x%y
12) 25u’v? = 3uv* - 23
14) —a’b? —2ab’ + 7a

16) —3x*y — 14xy + 18y

18) —8x?y® — 12x*y + 13y° —x*  19) 5x*y’ +2x%y’ + 10xy
21) 20u*v? + 10uv + 13u° + v 22) 19x*y* +3x°y* — 11y
24) 5x°y* — 11x°y? - 5y?
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Name

ID: 3

Assignment
Simplify each expression.

1) (4m?n+13m3) + (11mn + 2m?n = 10m*) — (6m?n + 10mn)

2) (4x® = x?2y?) = (11%% + 4x%y? + 14xy?) + (-6x%y? — 6xy?)

3) (14xy? — 11x%y*) — (7x*y> — 4xy? — 5x*y*) + (14x*y* — 2x*y3)
4) (11v? = 9u?v?) — (2v? — 10u? + 14uv?) — (5v2 + 12u?)

5) (-11ab’® +a*) + (-5ab® — 14a — 8a°) + (14a° — 11ab?)

6) (9x% — 14x%y) — (=11x% = 10y? = 5x*y*) + (=13x%y + 12y?)

7) (=14xy? — 13xy) — (4xy? + 13x*y> = 13xy) — (5xy? — 14xy)

8) (2n%+ 11m) - (11mn* = 5m> + 10m) + (=3m — 10m°)

9) (9xy? — 12x%y?) — (=8xy? + 7x3y* + 6x%y?) + (13x°y* + 7x2y?)
10) (6n* +3m*) + (n® + 3m* = n) — (5Sm* + 2n)

11) (x* +5xy?) = (-12x3 = 2x* = 11xy?) + (= 14xy® - 7%°)

12) (=3u*v + 8v?) + (11u*v + 4u — 6uv?) — (=8u + 10uv?)

13) (3uv? = 3u?v*) + (~10uv? — 1202v* + 4v*) + (13u’v — uv?)
14) (-10x*y> + 4x%y) + (-6y — 4x%y — 6y°) + (—6x%y — 5x*y?)
15) (-8b* — 8b%) + (14b* — 10 + b?) — (14b* + 11)

16) (~14n® —7mn*) + (m*n* + 13mn* - 9n*) — (~<7m*n* + 3n3)

17) (—4y* = 6x%y) + (°y + 11x% + 4y*) + (-13x%y° + 13y*)
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18) (12x*y + 8x*y*) — (10y + 11x%y — 14x*y*) — (14y — 2x*y*)

19) (-9x*y® — 10xy*) + (14x*y? + 3x%y + 3x°y?) — (-11x*y> — 2xy*)
20) (-9u*v? + 7u*) + (5u* — 2u*v — 11u*v?) + (~7u*v — 6u?)

21) (x2y* = 2xy?) + (13x%y* — 13x — 14°y*) = (-=73y* + 6x°y?)
22) (-2x3y — 4x*y) — (-4xty — 4x2 — 12x°y) + (-8x%y + 8x*y)

23) (13u?v — 13u*v) — (—4u*v — 5uv* + 3u?v) — (9u® + 11u*v)

24) (-11a°b? +3b*) — (4b* + 8a’b? + 13a*) — (11b> + 6b*)
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Answers to Assignment (I1D: 3)

1) 3m®+mn 2) —11x%y? — 7% — 20xy? 3) 8x*y* —9ox*y® + 18xy?

4) 23u2v2 +4v? — 2u? 5) —27ab’ +7a’ —14a  6) 5x*y* —27x°y +22y? + 20%?

7) 13x —23xy? + l4xy 8) —11mn* —5m* +2n? —2m 9) 6x3y* — 11x%y? + 17xy?
10) m* + 7n -3n 11) 3x* +2xy? + 5x° 12) 8u'v — 16uv2 +8v? + 12u

13) —15u’v* + 4v* + 13u’v — 8uv? 14) —15x*y? —6y® — 6x%y — 6y

15) —8b* — 7b3 -21 16) 8m*n* + 6mn* — 26n°

17) 13x —5%%y + 13y* + 11x? 18) 24x*y* + x*y — 24y

19) 16x*y? — 8xy* + 3x°y? + 3x%y 20) —20u’v® —9u*v + 6u*

21) —7x3y4 + 8x%y* — 2xy* — 13x 22) 8x*y +2x°y + 4x?

23) —20u’v + 5uv* + 10uv + 9u’® 24) —19a°b? - 7b* — 13a* - 11b°
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ID: 4
Name

Assignment Date Period

Simplify each expression.

1) (=11x%y + 12xy?) — (=8x%y — 12xy? + 7y?) + (=5y° + 12xy?)

2) (13x°y? + 13x*y?) + (12x*y? = 10x + 7x°y?) + (7% — 5x*y?)

3) (=8x%y —3y?) — (12x%y — 10y? + 7x3) = (2y? — 2%°)

4) (12%°y + 13y3) = (9x*y? + 11x%y — 10y?) — (2y° — 14x*y?)

5) (9u?v? —uv?) + (=11u? + 7uv? + 14u*v?) + (-9u?v? + 10uv?)

6) (3b° — 10a%b?) + (3b® + 4a + 6ab?) + (2b> + 11a2)

7) (6x3y* —4y*) — (3y* — 6xy + 12X°y*) — (-14y* — x*y?)

8) (12x*y? + 14x%y?) — (4x2y* + 8x2y? — 7x*y?) — (8x%y? — 10x*y?)
9) (-3n> —8m*n®) + (11n® — 6m*n — m?) — (-8n + 14m?)

10) (=5x2y* — 12xy*) = (2y* — 6xy* — 13x2y*) — (y* — 9xy*)

11) (7m®n? + 11mn?) + (=13m°n? = 8m?n?® — 14m*n*) + 3m*n? + m*n*)
12) (—6uv* — 11uv?) + (5u* = 10uv* + 7uv?) + (4uv® + 9uv*)

13) (=14x% + 4x%y?) — (<2x2 = 14y° = xy?) + (7%y? + v?)

14) (11v - 6u) — (=8v + 4u*v* — 4u) — (14v — 13u*v*)

15) (9x2y? + 5y*) — (14y* + 9xy* — 11x%y?) — (10y* — xy*)

16) (=5x2y? + 4x*y*) + (11x%y? + 13x*y* — 9x) + (=14x%y? + 9x*y*)

17) (6a*b* - 5) + (7a* + 7 - 4b) + (6 - 6a*b*)
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18) (-8m* —8n*) — (-n* + 3m* + 14m3) + (~14m* + m?)

19) (=8u’v? + 8uPv?) + (7u’v — 8uPv? — 14u°V3) — (9uPV? + 3u’v)

20) (=7m*n—9mn) + (=9n + 6m>n — 12mn) + (13mn + 4m°>n)

21) (12y — 7x*y*) + (=9x + 10x*y* — 13y) + (12x — 9y)

22) (-6y — 12x%y) — (y* - 9xy — x*y) — (10x°y + 4y)

23) (—14u*v? + 9u*v?) + (-3u*v3 — 14u*v? + 5u%v?) + (-10u*v? — 5u%V?)

24) (12xy — 5x%y) — (4xy + 13x%y — 2x°y) — (9%°y — 10x3y)
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Answers to Assignment (ID: 4)

1) -3x%y +36xy* — 12y° 2) 20x°y* +20x*y? — 17x 3) —20x%y — 5x% + 5y

4) 5x%y? + X’y +21y° 5) 14u’v? + 16uv? — 11u? 6) —4a’b” + 8b> + 15a°

7) —6x°y* + x*y? + 13y* + 6xy 8) 29x*y? — 4x?y* — 2x%y? 9) —14m*n® + 16n° — 15m?
10) 8x*y* + 3xy* - 3y* 11) —13m*n* = 8m?n’* —3m°n? + 11mn°’

12) —7uv* + 5u* 13) 12x°y* + 15y° — 12x2 14) 9u*v* —2u + 5v

15) —8xy* — 19y* + 20x%y? 16) 26x*y* — 8x?y* — 9x 17) 7a* —4b + 8

18) -7n* - 17m* - 21m? 19) -31u°v? +4u’v 20) 3m*n—8mn—9n

21) 3x*y* — 10y + 3x 22) —21x’y — y* + 9xy — 10y 23) —17u*v? — 15uv?

24) —7x%y — 8x%y + 8xy
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Name

ID: 5

Assignment Date

Period

Simplify each expression.

1) (6y —4x*y?) + (7x*y? + 7x°y? — 12y) + (-10y + 11x*y?)

2) (12a* - 2a%b?) + (-3a%b* + 12a%b? - 11a*) - (-7a*b* + 9a%b?)
3) (11x* + 10xy?) — (=6x2y? + 4xy? = 2y) + (-14x%y? + 3xy?)

4) (—6x2 +3xy?) — (=2x2 + 8x%y* + 8x°y?) — (7x°y? — 11x%y?)

5) (=13u?v? = 3u) — (uv® = 10u*v? + 8u) — (7uv — 8uv?)

6) (=3x2y® + 12x%y3) — (=10x%y® = 3x%y? + 2x%y?) + (11x°y? — 10x*y?)
7) (=8y* + 14x%y?) — (6x° — 9y* — 10x%y?) — (=x%y? - 8x%)

8) (—11u+2u*v*) = (=10u*v* + 14uv? + 11u) — (~uv? + 2u*v*)

9) (10m+n3) = (3n® + 13m + 4m?n?) — (-m + 8m?n?)

10) (11xy* = 5x%) = (14xy* + 113y + 7x*) — (10x2 + 5x%)

11) (7x*y* = 13%) + (12x*y* + 9x* = 3x) + (—12x + 5x*y*)

12) (y*=12) + (=1 +3x* = 13y*) + (-2x* — 6)

13) (4 — 8y?) + (=3y? + 3xy? + 7x°y*) + (12xy? — 10y?)

14) (y+ 11x2) = (=12y = 9x> = 9y?) + (11y? + 2x%y*)

15) (-3a%b + 6ab) + (6a° — 14a%b + 13a*) — (~13a> — 10a%h)

16) (—13y +5xy*) + (14y — 11xy* — 11xy) + (6Yy + 4xy)

17) (-8x*y +4y*) — (—4y* — 5x*y + xy?) — (<2y* + 12xy?)
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18) (-14a*b — 14a’b) + (a* + 4a*b + 5a°b) + (13a* + 10a’h)

19) (13m? = 9m*n) — (-=8m>n® = 12m*n + 13m?) + (=3m? — m*n)
20) (7xy — 8y) + (10y + 11xy + 3x*y?) = (5y — 9xy)

21) (=2x* + x*y3) + (=3x*y? +3x3y? — 13x*) — (7x%y* + 6x*y?)
22) (5x* - 9x%y?) — (=14x%y® + 12x3y — 7x*) + (—4x* - 13x%y?)
23) (3u?v—11u?v?) + (5uv® — 13uv? = 3u?v*) + (—4uv? — 10u?v)

24) (—2ab? + 8ab*) — (7a°b? + ab* — 14ab?) — (5ab? + 9a°b?)
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Answers to Assignment (ID: 5)

1) 7x°y? — 16y 2) 7a*b* - 12a’b* + 10a’b* + a*

3) 11x*y — 8x%y? + 9xy* + 2y 4) —15x°y® + 3%y + 3xy? — 4x?

5) —3u®v? + 7uv® — 7uv — 11u 6) —8x°y® + 7x°y? 7) y*+25x%y? +2x°

8) 10u*v* — 13uv? — 22u 9) —12m?n? —2n° - 2m

10) —11x°y? — 3xy* — 17x* — 10x? 11) 24x*y* +9x* — 28x

12) —12y* +x* - 19 13) 7xy* + 15xy? —21y* + 4 14) 2x%y* +20x* + 20y* + 13y
15) 13a* + 19a® — 7a’b + 6ab 16) —6xy* — 7xy + 7y 17) =3x*y + 10y* — 13xy?

18) —10a*b +a’b + 14a* 19) 8m*n® +2m*n — 3m? 20) 3x*y? +27xy -3y
21) —8x*y? — 7x?y* + 3xy? — 15x* 22) 5x°y° — 13x%y? — 12x°y + 8x*

23) —3u?v* — 28u’v? + 5uv® — 7ulv 24) 7ab* — 16a’b? + 7ab?
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Name

ID: 6

Assignment Date

Period

Simplify each expression.

1) (-11x%y = 5x2y*) — (3x*y — 7x%y? + 13x%y*) — (—4x3y> - 3x*y)

2) (—2x%y? + 14x%y*) — (1132 + 8x2y2 — 4x%y*) + (2°y* + 9x°y?)
3) (-9m? + 10m?n?) — (2mn® — 4m? — 8m?n?) + (-6n> — 11m?)

4) (-5a*b’ + 5ab®) + (-14b* + a*b® + 2ab) — (9a*b® + 11ab?)

5) (13x%y? = 3x2y*) + (-9x%y? — 13x%y® — 12x2y*) + (14x%y* — 13x°y?)
6) (11uv> —6v3) + (—8uv? + 9uv? + 7u) + (4u — 9uv?)

7) (4x2 + 13x%y3) + (13xy + 7x%y* + 2x%) + (142 + 3x3y3)

8) (10x% +12) + (13x°y> + 12x% — 10) + (11x% + 6x°y?)

9) (-8b> —4a’b?) — (-10b* + 7a + 5a°b?) - (-a’b? — b3)

10) (10x* +3y) + (-7y — 14x2y* = 5x%) — (9%° — 8y)

11) (13m*n® -2) - (14 - 13m*n® - 3m?n3) + (6 + 9m?n?)

12) (—x+ 5x*y*) + (6x*y* + 2y + 10x) + (7y — 9y*)

13) (—11x%y + x2y*) — (<7x3y* + 4x*y? + 9x%y) — (13x%y* - 9x*y)
14) (-13x%y2 — 13x*y*) — (9x*y* — 9x*y? — x2y?) — (13x%y? + 8x*y*)
15) (10v? — 12u3) — (—2uVv? + 14u® — 13v?) + (—6uV? + 3v?)

16) (93y® — 11x%y) + (12y* — 9xy* + 4x°y3) + (4x*y — 5%%y?)
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17) (—14x%y3 + 6x*) + (-10x%y® + 7y* + 12x%y3) + (-5x* — 14y*)

18) (x*y* +4y) + (5y + 5y* + x*y*) + (-7y* = 11x*y*)

19) (4m*n? — 14m°n®) + (~6m°n* + 14m>n’ + 4m>n?) — (6m>n’ + 8m>n?)
20) (10mn? +2m?n) + (4m?n — m*n> + 12mn?) - (=3m>n? + 6mn)

21) (-3x3y® + 13yY) + (7Y + 6x%y* + 3xy*) — (9%° — 7xy?)

22) (3uv* — u?v) + (—14uv* — 9u?v + 11u*v*) — (—u*v* + 13u?v)

23) (-8y? — 9x%y) — (-9x%y® — 3y? + 13x%y) + (=7y? + 4x%y)

24) (—14x3y — 8x2y) + (8x°y — 9x%y + 3x%y*) + (3x%y — 4x°y)

b2 wsgsgs ath-vsorlsheel ory

math-worksheet.org



Answers to Assignment (I1D: 6)

1) —18x%y* + 11x°y° — 11x%y 2) 20x°y* + 18x°y? — 8x%y?

3) 18m?n® —2mn’® — 16m? — 6n? 4) —13a*b® — 6ab® — 14b* + 2ab

5) —x*y* — 22x%y? 6) 3uv® —6v° + 11u 7) 23x%y* +20x* — 13xy

8) 19x°y® +33x* +2 9) —8a’b* +3b’ - 7a 10) —14x%y* —4x> + 4y

11) 26m*n® + 12m*n® - 10 12) 11x*y* —9y* + 9y + 9x 13) —5x%y* —4axty? — 11x%y
14) -30x*y* — 17x*y? + x?y? 15) —4uv? —26u° +26v? 16) 8x’y’ — 7x*y — 9xy* + 12y*
17) 12x°y°® - 24x%y® — 7y* + x* 18) —9x*y* —2y* -y

19) —6m°n* + 4m*n? — 6m°n’ — 4m’n? 20) —m*n’ +3m’n? + 22mn?

21) 4x°y? + 17x%y* + 10xy* — 9x° 22) 12u*v* — 11uv* - 23u°v

23) 9x?y? — 18x%y — 12y 24) 3x°y* — 10X’y — 14x%y
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Name

ID: 7

Assignment
Simplify each expression.

1) (13b? +8b) — (~12b% — 13b — 2a) + (-8a — 9h)

2) (=2x2y* = 5°y?) = (=3x2y2 + 12533 + 11x%y*) + (2y2 — 2x%y?)
3) (7ab? + 9b) + (4a + 12ab? + 14b) — (2b + 12ab?)

4) (3x%y + 13x*y?) — (4x°y? — 2x*y? — 8x%y) + (=6x3y° — 13x°y?)
5) (14v? — 12v3) + (<7u*v? — 10v? — 2v3) + (4u*v? — 5v?)

6) (12x2y* — 13x°y*) — (—4x3y* + Txy + 8x%) + (=14x°y* — 5x%y*)
7) (2xy® +9xy?) — (=xy* + 12x°y? + 11xy?) + (10x%y? — 10xy?)

8) (=10m —8mn) — (8m + 6mn + 12m*n?) + (4mn* + 12m)

9) (—=11+12y) +(-3y—5xy> + 11) - (2y - 12)

10) (12y? + 13xy) + (14xy — 11xy* + y2) + (12xy* + 9xy)

11) (-9b2 + 6a*b?) — (2a%b> + 11b? — 9a3b?) — (a%b> + 14a’b?)
12) (10a° — a*b?) + (-6a° + 14a*b® — 4a’b*) + (a° + 5a*b?)

13) (13y? +3x%) + (11x*y? +3y® — 9x2) + (xy? - y?)

14) (4x3 = 7x%) = (8x% + 13x*y? + 5%%) + (=3x* + 10x*y?)

15) (—=10x%y* = 10y*) + (-1 1°y* — 10xy? + y*) + (-6y* — 12xy?)
16) (8y* — xy*) — (=7xy* — 5y* — 10x*y?) + (3x* + 13x%y?)

17) (=5uv? — 13u?v) — (6uv* + u?v — 2uv?) — (11u?v + 13uv?)
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18) (=3x* —9x*y*) — (8x*y* + 14y* + 5x%y%) — (-12y* + 7x%y?)
19) (-11n? +5m*n*) + (-3m*n* - 5n? —6m?) — (12n> + 6m°)

20) (—14x2y* +3x%y) — (3x3y* — 7x2y* + 10x%y) + (10x%y* + 2x%y)
21) (-11m*n? - 12) + (-4m?n® = 5m* — 14) + (~10m*n? + 5m*)
22) (103y* +4x2) + (-8x% — 13x%y* + 7x%y) — (-8x°y — 11x?)

23) (12xy* + x%y) + (-10x*y? = 13xy* + 10x) — (=1 1xy* + 4x°y)

24) (2x°y +9x%) + (=6y* — 5x* — xy?) - (xy* — 8y*)
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Answers to Assignment (ID: 7)

1) 25b% + 12b - 6a 2) —15x%y* — 17%%y° + 3x%y? + 2y? 3) 7ab* +4a’ +21b
4) 15x%y? —17x%y* — 6x%y® + 11x%y 5) —3u'v? — 14v° — V2

6) 23Xy + XAyt —8xP —7Txy  7) —2x°y? +3xy® — 12xy?

8) —12m*n’ + 4mn* — 14mn — 6m 9) —5xy* + 7y + 12 10) xy* + 36xy + 13y?
11) 6a*b’® —5a’b® + 3a’b® — 20b? 12) 18a*b’ —4a’b* + 5a°

13) 11x%? +15y? + xy? — 6x* 14) =3x*y? —x* —18x? 15) —21x%y* — 15y* — 22xy?
16) 23x°y® + 6xy* + 13y* +3x*  17) —19u’v* — 25u%v — 3uv?

18) —24x*y* —5x%y* —2y* —3x* 19) 2m*n* — 12m* — 28n?

20) -3x%y* +3x%y* — 5xty 21) -25m*n* -26 22) =3x3y* + 15x%y + 7x?

23) —10x*y? + 10xy* — 3x%y + 10x 24) 253y + 2y* — 2xy? + 4x?
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Name

ID: 8

Assignment
Simplify each expression.

1) (x%y — 8x%y) + (=11xy* + 6x%y + 12x%y) + (=9x%y + 10xy*)

2) (5a%b +7) - (9a*b + 5a* — 8a%b?) + (2a*b + 12ab?)

3) (-8n% + 8m*n) + (14n> — mn? = 3m*n) + (~10mn? — 4m*n)

4) (=5x2y* + 5xy) + (5x%y* — 13x*y — xy2) + (3x2y* + 14x%y)

5) (-14m*n3 +9n) + (2m*n® = 7n + 14m?n?) — (2n — 12m*n?)

6) (12v2 —5uv?) — (11v2 = 11uv® + 9v3) + (=10v? + 14uv?)

7) (12x2y3 +2x%y*) + (3x2y — 4xy? + 3x°y*) — (~14xy? — 6x°y?)

8) (=5x%y? — 9x) — (-3y> — 6x + 8x%y?) — (2y° — 13x%y?)

9) (7u*v* - 4u) + (-2u + 12u*v* = v?) — (<2u*v* + 6u)

10) (-6mn? +4m?n*) + (-14mn? — 1 — 11m*n*) + (~9m? - 10)

11) (1+7y3) = (axy® +7y* —11) = (-11y? + 5x%y?)

12) (-12a%b* - 13a*b?) - (8a — 14a*b® + 8a’b*) — (a*b® — 13a%b?)
13) (—2xy* + 12x*y3) — (=5xy* + 4x?y> + 11x%y*) — (=3x%y* — 7x%y?)
14) (-8y? + 13x%y*) - (13x%y* — y* + x*y*) + (7y° + 14x%y?)

15) (-11m —m?) + (-9m* - 3m — 4m?) + (-3m* + 9m?)

16) (-11v—7u%) — (<7u*v* — 12v2 + 6u3) — (4u® + 9v?)
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17) (12x%y* + x%) = (93 + 13x%y* — 8x*y) + (x* + 14x%y)

18) (4a*b* - 12) + (6a’ + 10a*b* — 2) — (6a° — 11)

19) (14xy? +3x%y) + (—12x%y® — 7x3 + 2xy?) — (=5%° = 9x%y)

20) (-5uv — 12uv?) + (5uv + 7uPv — 4u?) — (-14u” - 5U°V)

21) (—12x%y + 13x%y%) + (13x%y> = X3y — 4x3) — (-12%y + 8x%y?)
22) (6x% = 7x*y*) + (-9y + 6x% — 13x*y*) — (<2x*y + 2x3)

23) (—6x%y — 7xy?) + (10xy* + x2y? — 6x2y) — (6x°y + 5xy?)

24) (12x2y> + 10xy?) + (-9y* = 3x%y> + 2x%) + (-9%* — 11x%y?)
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Answers to Assignment (I1D: 8)

1) —xy* + 4x’y — 2x%y 2) —7a*b+25a’b* —5a* +7 3) m*n— 11mn? + 6n°

4) 3x%y* + x*y — xy? + 5xy 5) —12m°n’ +26m?n° + 4n 6) 20uv’ — 9v* — 9v?

7) 5x°y* + 18x%y? + 3x%y + 10xy? 8) —5x°y? + 5x°y? + 5y° — 3x

9) 21u*v* —vZ - 12u 10) —7m*n* —20mn* —9m? — 11

11) —-5x*y? —4axy® + 11y° + 12 12) —8a’h® + a’h* - 8a 13) —8x*y* + 15x%y? + 3xy*
14) 13x%y* 15) —12m* + 4m? — 14m 16) 7u*v? — 17u’ +3v? — 11v

17) —x*y* +22x%y + 11x° 18) 14a*b* -3

19) —12x%y? + 12x°y + 16xy* — 2x° 20) 7u’v — 12uv? + 5uv + 10u?

21) —x’y — 8x%y? — 4x° 22) 20x*y* +2x%y + 10x* =9y 23) —2xy° + x°y? — 18x%y

24) —2x%y® —9y* + 10xy* — 7x°
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Name

ID: 9

Assignment
Simplify each expression.

1) (=11u3v + 5v2) + (=10uv? = 3uiv — 5v2) — (=3u?v? — 6u’v)

2) (-14xy® - 9x%y?) - (xy® = 7y* = 5x%y?) - (5y* - 6x°y7)

3) (4ab? + 6a%b?) + (11ab> + 14a’b — 3a*b) + (-7a*b + 5ab?)

4) (9xy® —8y?) — (~14xy* — 13y* + 12xy°) + (~14y* — 14xy*)

5) (y* + 8x%y%) + (12x%y° + 8x%y* — 3y®) + (~14y + 2x%y?)

6) (5x*y’ — 8xy*) — (y — 10xy* + 4x*y?) — (~12xy* + 9y)

7) (10xy? +2x3y*) — (—4y* + 7°y* — 9xy?) + (-12y* + 12x°y*)

8) (10n* = 5m*n?) — (=10n° = 2m*n + 5m*n?) + (14mn* — 4m*n)

9) (—5x*y? +9x%y3) — (x*y® + 2x%y3 + 14xy®) — (~4xy® — 6x%y°)
10) (12%°y + 11x%y?) = (5x3y> — 9x%y — 6) — (14 + 6x°y?)

11) (-2x*y* —12y) — (12x*y* + 11y + 4°y3) — (-10y — 6x*y?)

12) (-14ab® — 4a) + (-3a - 5ab® — 1) — (-5ab> + 9a)

13) (-8a*b* - 5b) + (8a*b* + 9ab* + 10b) + (-11a°b* — 5a*b*)
14) (-7m*n* + 14m*) — (~6m*n> + 3m*n* + 3m*) + (-8m*n* + 8m*)
15) (6x*y + 12x*y3) + (=6x3y* + 14x%y? + 11x%y) + (=5x*y — 2x*y?)
16) (-n* + mn?) + (2mn® — 11n* + 13mn?) + (12mn* — 3m*n)

17) (2u®v? +5u?) + (9u?v? + 10u® + u?) + (3u?v? + u?)
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18) (—2x* + 13y?) — (6x°y — 4x* + 14y?) + (14y? + 4x*)

19) (-11a* - 13a%) — (-13a* — 4a° + 8a%b?) + (-6a> + 3a’b?)

20) (-8x%y + y?) — (7x%y + 13y* + 8x%y) — (6x%y — 9y?)

21) (-8u® —2u?) — (-14v* + 10u*v? + 13u?) — (14u? + 10u?)

22) (~13xy? — 6xy*) + (=3x2y* + 2xy* + 12x%) — (—12xy* — 5xy?)

23) (12m*n? — 12m*n*) + (3m*n* — 9m*n? — 2m*n*) — (4m*n? — 5m*n°)

24) (—8xy? + 12xy) + (4xy* — 11xy — 7xy?) + (9xy + 13x*y*)
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Answers to Assignment (I1D: 9)

1) —8u’v —7u?v? 2) —13xy> +2x%y? +2y*

3) 6a’b’ — 10a*b + 14a°b + 20ab? 4) -3xy’ - 9y?

5) 20x%y* + 10x%y® — 16y° 6) x'y® + 14xy* — 10y 7) 7x°y* — 8y* + 19xy?

8) —10m*n? —2m*n + 14mn® + 20n° 9) —6x*y? + 13x%y? — 10xy’

10) 21x°y -8 11) —-8x*y* —4x’y® — 13y 12) —l4ab’ — 16a— 1

13) —5a*b* —2a’b* + 5b 14) 6m*n® — 18m*n* + 19m* 15) 24x*y? —6x°y* + 12x%y
16) —3m*n +2mn® — 12n* + 26mn? 17) 14uv? + 10u® + 7u?

18) 6x* — 6x’y + 13y? 19) 2a* - 5a’b? — 15a° 20) —8x’y —21x%y —3y?

21) —10u’v? + 14v* — 31u’ - 16u° 22) -3x%y* + 8xy* — 8xy? + 12x°

23) —14m*n* —m*n? + 8m?*n? 24) 13x*y* + 4xy* — 15xy? + 10xy
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Name

ID: 10

Assignment
Simplify each expression.

1) (9x*y* —9x) + (8x*y* — 6x + 12x%y) + (=10xy> + 9x)

2) (14x%y +9xy?) — (=14x*y + 10x> = 7xy?) + (12xy? — 2x°)

3) (3u?v? +4u*v?) + (12u*v? + 10u?v? — 12uv?) + (11uv? + 10u*v?)
4) (6 + 11v*) + (3 = 2v* + 5u%) — (-9u? - 4u’v)

5) (-11x%y — 8y?) + (13xy* — 2x%y + 12y?) + (11xy* — 11x%y)

6) (-5xy - 9y?) - (~4y* + 4y’ - 5x%y) - (3x’y - 3y°)

7) (=14xy> + 7x%y?) = (=7x3y? — 6xy> + 7x*) + (2x%y? — 14x%)

8) (9m*n* + 5m*n?) + (2m + 2m*n* — 8m*n?) + (14mn* + 12m*n?)
9) (9y +8y?) - (9y® — 11y —3x%y*) + (10x%y> + 7y)

10) (2x%y + 2x%y?) — (9x3y — 6x%y — 8y) — (=13x%y — 4x*y?)

11) (-3x* = 2x*y*) — (<7x*y* = 14x2y° — 9x3y) — (=10x* + 10x*y*)

12) (-5b> + 4b*) + (10a*b? + 9b* — 3b*) — (—6b* + 8a*b?)

13) (8u?v —11u*v) = (=13u?v + 9v? + 2u%v?) — (9v? + 14u?V)

14) (=5m?n? =3m>n?®) + (=5m>n® + 4m?n? = m) + (-9m — 14m>n3)

15) (=8x°y? + 12x) — (4x*y* — 6x°y? + 2x) + (12x°y? + 11x)

16) (=2x3y? + 11xy?) = (12xy? = 7x*y? + x*y*) + (13x*y* + 13x%Y?)

17) (3x*y = 14x%) + (x*y? + x* = 9x) + (~x*y - 5x)
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18) (12x%y® — x*y?) — (x2y® — 8x*y? + 6x°) — (11x° — x*y?)
19) (~14u’v? + 13u) + (-9u?v? — 4uv + 11u) — (~10u’v? + 4u)
20) (—9a%b* + 8b) + (—6a” + 14 — 6ah*) + (-3a’b* — 6b)

21) (6x%y® — 7y?) - (-13y? — 4x%y* + xy) + (~10xy + 8y?)
22) (3m*n? +2mn) — (8mn + 7m*n? + 9m) — (—-9m + 3mn)

23) (-3a° —3a’h) + (a® — 2a° + 10a*h) — (6a*b — 14a°)

24) (~14xy* + 4xy?) — (5xy* + 6x% + 11y?) + (11xy? + 7x?)
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Answers to Assignment (ID: 10)

1) 17x*y* + 12x°y — 10xy° —6x  2) 28x*y + 28xy* — 12x° 3) 26uv? —uv* + 13u?v?
4) ov* +4uPv + 14U + 9 5) 24xy* — 24X’y + 4y? 6) 4y* - 3x’y — 10y’

7) —8xy® + 16x%y? —21x* 8) 11m*n* +9m>n’ + 14mn* — 2m

9) 13x%y° —y® +27y 10) 6x*y’ + 19x*y — 7x%y + 8y

11) —=5x*y* + 14x%y? + 7x* + 9x°y 12) 2a*b? + 13b* - 2b*

13) —11u'v —2u?v? + 7u?v — 18v? 14) —22m*n® —m?n? — 10m

15) —4x’y* + 10x°y? + 21x 16) 12x*y* +20x*y® — 2x°y?® — xy?

17) x*y? +2x%y — 13x* — 14x 18) 8x*y? + 11x%y® — 17x° 19) —13u’v? — 4uv + 20u
20) —18a’b* —6a” +2b + 14 21) 10x%y* + 14y? — 11xy 22) —4m*n? —9mn

23) 4a’b-3a’b+9a’ + a’ 24) —19xy* + 15xy* + x> — 11y?
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